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qast : (1) eds uad slruld B,

(2) el sugal opl wlda 8.

1 (21) walid A3dl AR Wbd A 3 P(4~B)=P(4)-P(B/4).

(@) % A, B 29 C 28 Y4 MaRs A F:AY gexl da

A 3P(A4)=2P(B)=6P(C) & dl P(AUB),P(4wC)
A P(BUC) 2l
(5) o P(4)=5.P(B)-

P(A'0B"), P(A'/B') 4.

N

(3) A 4={1,2,56,8}, B={2,4,6,10,11}, C={1,2,3,5,6,11,12},

dl ABLd s 3 Au(BmC):(AuB)m(AuC).

wYd)

A P(ANB) =é S dl P(4'nB),

Y
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v () W A4={1,2,4},B={2,3},C={3,5} Sla dl wlid s 3 Y
Ax(BmC):(AxB)m(AXC)
(o) 2ultd $A 3 P(4UB)=P(4)+P(B)-P(A~B). 1

() s ORI 5 cld A 3 s il 9. oflw AL 4 Al y
i 5 5100 el 9. dHidl s 6oL u2%9 Id Wi 53 6 el
ddl dHl s £dl dld 2 oflod £l S0 Slau-ll Aa-l L.

CP(B)=Z, P(ANB) == du d P(4/B) N
vt P(B/A) L.
2 () Adsiadlq anse vA AlRld w3 Ad w[AR wHed). 0

(o) 02 2uell Hlscdl 2 audl vwaaud aHlsel YsdH 10
ol <ld Hadl 24 9y 2015 U2 wqHIMd Bud Hadl

i | 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010
Bud | 15 14 18 20 17 24 27

YAl
3 () D2 20l Wlscdl W2 Yuid e Yady Qo 10
dad 5A 2 YIuqaril bl

i | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007
(3ua | 40 45 46 42 47 50 46

(o) 200el Rl w2 -] ugkiel HaHl yas¢if bl : 10

W 0|9 |05
1994 | 72 [ 68 | 60 | 70
1995 [ 76 | 70 | 82 | 74
1996 | 74 | 66 | 84 | 80
1997 | 76 [ 74 |84 | 78
1998 | 78 | 74 | 86 | 82
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3 () Add ULA9 A e A Rd@ 1A o ) ¢

x |2]-1]0 2 3

]

X Zlop | Z3p =

r(x) | p 5115775
() P a4l

() weus w9 [Ae A,

(8) E(2x+3),Var(3x) ] V(2x+3) 28,

(o) oulilis 210l @il @il

3 (a) s elsuui 3 ude A 6 sl e O,

wYd)

auidl 21s lsa

2 el WE 53 0. Alsad uAs At w3l €ls 3. 15 MO 8

R UAS 5101 €3l 8ls 3. 5 Ysadl U3 8. dl lsan wadl
-l wURA Bud .

(4) »RAdd 229 Ad x < Aot Rder A wud &

x Jof[t[2]3[4[5 [ 6
p(x) | 0|k |2k |3k | K2 | 262 | 5k% +k
(1) k .

() weus w9 [Ae A,

¥ () [guel [Rdresi opisl avl,

(o) s [Buel el wos 3 20 [Rae 2 8, d wad dd.  y

(5) s Guel Rd@ W2 #=10 2 p(x=5)=2p(x=4) 4 d u

Heys i (WL ).
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¥ o (2) W Rde oeeHl 2 Gulol dvil. o

() Wt Rded srale s ¢

x |01 [2]3]|4]|5
2igli |42 (33|14 |6 |4 |1

(e_l - 0.3679)

ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.

1 (@) In usual notations prove that 5
P(AnB)=P(A)-P(B/4).
() If events A, B and C are mutually exclusive and 5

exhaustive events and 3P(4)=2P(B)=6P(C) then

find P(AuB),P(4uC) and P(BUC).

© If P(4)==,P(B)=

2

3 1
7 P(AmB):g then find 5

W | —

P(A'nB'), P(A'UB'),P(A/B") .
@ If A={1,2,5+6,8}, B={2,4,6,10,11}, C={1,2,3,5,6,11,12}, 5

then prove that AU(BNC)=(AuUB)n(4UC).

OR
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b)
©

(d)

(b)

(b)

If 4={1,2,4},B={2,3},C={3,5} then prove that 5
Ax(BmC):(AxB)m(AXC).

Prove that P(4uB)=P(A4)+P(B)-P(ANB). 5

In a first bag there are 5 red and 3 black balls. In a 5
second bag there are 4 red and 5 black balls. Randomly

one bag is selected and from that two balls are drawn.
Find the probability that one ball is of red and second

is black.

3 3 8
IfP(A'):Z, P(B'):g and P(A'mB')ZEthenﬁnd P(4/B) 5
and P(B/A).
Explain in detail long term fluctuation and method 10
of moving average.
For the given data fit a second degree parabolic 10

equation by method of least square. Eximate the
value for the year 2015

Year | 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010
Value | 15 14 18 20 17 24 27

OR
For the given data first a straight line equation by 10
method of least square and find linear trend values.

Year | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007
Value | 40 45 46 42 47 50 46

For the given data find seasonal index numbers by 10
simple average method.

Year | Oy |0y | U3 | U4
1994 [ 72| 68 | 60 | 70
1995 [ 76 | 70 | 82 | 74
1996 | 74 | 66 | 84 | 80
1997 | 76 | 74 | 84 | 78
1998 [ 78 | 74 | 86 | 82

NBM-002-001217 ] 5 [ Contd...



3 (@) Following is the probability distribution of discrete 8
random variable.

-2

-1

p(x)

p

15

2p

3p

wn | =] W

(1) Find p.

(2) Find mean and variance.

() Find E(2x+3),Var(3x) and Var(2x+3).

(b) Write the properties of Mathematical expectation.

3 (@ In a box there are 3 white and 6 black balls.

OR

A person selected two balls at random. A person is

getting Rs. 15 for each white ball and loosing Rs. 5
for each black ball. Then find the expected values of the

amount.

(b) Following is the probability distribution of random

variable x

X 0

1

4

5

p(x) 0

k

2k

3k

k2

242

sk 4k

(1) Find k

(2) Find mean and variance.

4 (a) Write the properties of Binomial Distribution.

(b) For a Binomial distribution mean is 3 and variance 5

is 2. Find parameters of the distribution.

(0 For a Binomial distribution »=10 and

p(x=5)=2p(x=4) then find mean and variance.
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4 (a) Write the properties and uses of Poisson Distribution. 7

(b) Fit a Poisson Distribution :

X

Frequency

42

33

14

(e_l - 0.3679)
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